

Problem 	PROBLEM OF THE WEEK
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Name & Surname: _______________________________________ Class: _______
	Grade 6 & 7    2025 # 28		Hand in by Thurs 18 Sept

Kian divides 2015 by 1. Then he divides 2015 by 2 and then in order by 3, 4, 5, etc up to and including 1000. For each division he writes down the remainder. 
What is the biggest remainder he notes down?
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Hand in by 1500 on Thursday (place in the box outside the foyer). The best solution (not just the answer) will be announced on Friday. The solution will posted on the website: http://markrushby001.wixsite.com/sv-maths/problem-of-the-week 
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‘Suppose we obtain the remainder r when we divide 2015 by the positive integer d.
Thenr < d - 1. Also, withd < 1000 the quotient must be at least 2. This
suggests tha to get the argest possible remainder we should aim to write 2015 in the
form 2d + (d - 1). The equation 2015 = 2d + (d - 1) has the soutiond = 672
So we obtain the remainder 671 when we divide 2015 by 672. Ifwe divide 2015 by
anintegerd, < 672, the remainder will b at most dy — 1 and so will be lessthan.
671. Ifwe divide 2015 by an integer dy, where 672 < d; < 1000 and obtain
remainder r,, we would have r; = 2015 - 2d; < 2015 - 2 x 672 = 671. Hence 671is
the largest remainder we can obtain.




